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1. Education is ________ aspect of 

philosophy and philosophy is the 

________ aspect of education. 

 (A) theoretical, practical 

 (B) practical, theoretical 

 (C) dynamic, dormant 

 (D) dormant, dynamic 
 

2. The book “The Life Divine” was 

written by ___________. 

 (A) Tagore (B) Vivekananda 

 (C) Aurobindo (D) Gandhiji 
 

3. Pragmatism professes for ________ 

as a school of philosophy. 

 (A) idea (B) action 

 (C) reality (D) programme 
 

4. Secularism means ___________. 

 (A) The State is to give patronage 

to any one religion. 

 (B) Respect all religions without 

favouring any one religion. 

 (C) Lacking religious emotion, 

doctrines and practices. 

 (D) To impose any particular 

religion upon the rest of the 

people. 
 

5. ‘Astamarg’ has been practised by the 

philosophy of ___________. 

 (A) Vedanta 

 (B) Islam  

 (C) Jainism 

 (D) Buddhism 
 

6. “The most important outward factor 

is the formation of nationalities in 

the State.” To which philosophy do 

you attribute this statement ? 

 (A) Marxism (B) Capitalism 

 (C) Fascism (D) Socialism 

 

 

 

 

 

7. Which one of the following 

principles is not correct regarding 

pragmatism ? 

 (A) Pragmatism accepts any 

definite/eternal truth or 

principle. 

 (B) According to pragmatists truth 

is man made. 

 (C) Pragmatists support 

spiritualism. 

 (D) Pragmatists stress more on acts 

rather than thoughts. 

 

8. Who has formally initiated the 

concept of Naturalism in Modern 

Indian Education ? 

 (A) Tagore (B) Vivekananda 

 (C) Gandhiji (D) Aurobindo 

 

9. “There cannot be educated people 

without educated women.” This was 

indicated            by ___________. 

 (A) The Resolution of the National 

Policy on Education (1968) 

 (B) The United Nations 

Declaration on the Elimination 

of Discrimination against 

Women (1967) 

 (C) The University Education 

Commission (1948-49) 

 (D) New Policy on Education 

(1986) 

 

10. Analytical School of Philosophy was 

propounded by 

 (A) Theodor Brameld 

 (B) Bertrand Russell 

 (C) R.S. Piters 

 (D) Vitzenstine 

EDUCATION 

Paper – II 
 

Note : This paper contains fifty (50) objective type questions, each question carrying           

two (2) marks. Attempt all of them. 
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1. × ¿ Ö� Ö Ö ¤ ü¿ ÖÔ−Ö 
 ú Ö _ __ __ __  ¯ Ö� Ö Æîü ‹ ¾Ö Ó ¤ ü ¿ ÖÔ−Ö 
× ¿ Ö� Ö Ö 
 úÖ __ __ _ __  ¯ Ö�Ö Æîü … 

 (A) ÃÖ î̈ ü Ö Û −ŸÖ
 ú , ¯ ÖÏµÖ Ö ê�Ö Ö Ÿ´Ö 
ú  
 (B) ¯ ÖÏµÖ Ö ê�Ö Ö Ÿ´Ö 
 ú, ÃÖî̈ ü Ö Û −ŸÖ 
ú  
 (C) �Ö × ŸÖ ¿ Öß »Ö, ÃÖ ãÂÖ ã̄ ŸÖ 
 (D) ÃÖ ãÂÖ ã̄ ŸÖ, �Ö ×ŸÖ ¿Ö ß »Ö 
 
2. “¤ ü »Ö Ö ‡±ú  × ›ü¾Ö Ö ‡−Ö” ¯ ÖãÃŸÖ 
 ú  × »Ö %Öß �Ö ‡Ô Æ îü  
 (A) ™îü �Ö Ö ȩ̂ ü «ü Ö ¸üÖ (B) × ¾Ö ¾Öê
 ú Ö −Ö −¤ ü «üÖ ¸ü Ö 
 (C) †¸ü × ¾Ö −¤ü «ü Ö ü̧ Ö (D) �Ö Ö Ó¬Ö ß •Ö ß «ü Ö¸ü Ö 
 
3. ¤ ü ¿ ÖÔ−Ö 
êú  ‹
ú  ÃÖ ´¯Ö Ï¤ ü Ö µÖ 
êú  ºþ ¯Ö ´Öë ¯ ÖÏµÖ Ö ê�Ö ¾Ö Ö ¤ ü 

_ _ __ __ _  
 úÖ ¯Ö Ï¤ ü ¿Ö Ô−Ö 
ú ¸ü ŸÖ Ö Æ îü  … 
 (A) × ¾Ö “Ö Ö ü̧ (B) × 
Îú µÖ Ö 
 (C) µÖ£Ö Ö£Ö ÔŸÖ Ö (D) 
 ú Ö µÖ Ô
Îú ´Ö 
 
4. ¬Ö ´Ö Ô-× −Ö ¸ü ¯Ö ê� Ö ŸÖ Ö 
 ú Ö †£Ö Ô Æîü 
 (A) ¸ü Ö Â™Òü «ü Ö ¸ü Ö × 
 ú ÃÖß ‹
 ú  ¬Ö ´ÖÔ 
 ú Ö ê ¯ Ö ÏÁ Ö µÖ 

¤ êü −Ö Ö … 
 (B) × 
 ú ÃÖ ß ‹
 ú  ¬Ö ´Ö Ô 
 úÖ ¯ Ö� Ö ×»Ö ‹  × ²Ö −Ö Ö 

ÃÖ³Ö ß ¬Ö ´Ö Öí 
ú Ö †Ö¤ ü ¸ü 
 ú¸ü −Ö Ö … 
 (C) ¬Ö Ö Ù ´Ö 
ú  ÃÖÓ¾Ö ê�Ö Ö ë, × ÃÖ ü̈ Ö −ŸÖ Öë ‹ ¾Ö Ó 

†³µÖ Ö ÃÖ Öë 
 ú Ö †³Ö Ö¾Ö … 
 (D) †−µÖ ¬Ö ´Ö Ô 
 êú  »Ö Öê�Ö Ö ë ¯ Ö ¸ü ×
 ú ÃÖ ß ‹
 ú 

× ¾Ö ¿ ÖêÂÖ ¬Ö ´ÖÔ 
 ú Öê †Ö ¸ü Öê× ¯ Ö ŸÖ 
ú ¸ü −Ö Ö … 
 
5. ‘†Â™ü ´Ö Ö �Ö Ô’ _ _ _ _ __ _  ¤ ü ¿ ÖÔ−Ö «ü Ö ¸ü Ö †³µÖ Ö ÃÖ ´Öë 

»Ö Ö µÖ Ö •Ö Ö ŸÖÖ ¸üÆ ü Ö Æîü … 
 (A) ¾Ö ê¤ ü Ö −ŸÖ (B) ‡Ã»Ö Ö × ´Ö 
ú  
 (C) •Ö î−Ö ´Ö ŸÖ (D) ²Ö Ö î̈ ü ´Ö ŸÖ 
 
6. “¸ü Ö Â™Òü ´Ö ë ¸ü Ö Û Â™Òü 
 ú ŸÖ Ö 
 ú Ö × −Ö ´Ö ÖÔ9 Ö ÃÖ ¾Ö ÖÔ×¬Ö 
 ú 

´Ö Æ ü ¢¾Ö¯ Öæ9 Ö Ô ²Ö × Æ ü �ÖÖ Ố Ö ß 
ú Ö ¸ü
 ú  Æ îü …” ‡ÃÖ 
 ú £Ö −Ö 
 ú Öê 
†Ö ¯ Ö ×
ú ÃÖ ¤ ü¿ ÖÔ−Ö ¯ Ö ¸ü †Ö ¸ü Öê× ¯ Ö ŸÖ 
ú ȩ̈ü �Ö ê ?  

 (A) ´Ö Ö ŒÃÖ Ô¾Ö Ö ¤ü (B) ¯ ÖæÑ•Ö ß ¾Ö Ö ¤ ü 
 (C) ±ú Ö ÃÖ ß ¾Ö Ö ¤ ü (D) ÃÖ ´Ö Ö •Ö ¾Ö Ö¤ ü 

 
 
 
 
 

 

7. × −Ö ´−Ö × »Ö ×%Ö ŸÖ × ÃÖ ¨ü Ö −ŸÖ Öë ´Ö ë ÃÖ ê 
 ú Ö î−Ö ÃÖ Ö × ÃÖ ü̈ Ö −ŸÖ 
¯ ÖÏµÖ Ö ê�Ö ¾Ö Ö ¤ ü 
êú  ÃÖ Ó¤ ü³ÖÔ ´Ö ë ÃÖ Æ ü ß −Ö Æ ü à Æ îü ?  

 (A) ¯ ÖÏµÖ Ö ê�Ö ¾Ö Ö ¤ ü 
ú Öê‡Ô ³Ö ß × −Ö Û ¿ “Ö ŸÖ/× “Ö Ó̧ü ŸÖ −Ö 
ÃÖ ŸµÖ †£Ö ¾Ö Ö ˆ ¯Ö × ÃÖ ¨ü Ö −ŸÖ 
 úÖ ê Ã¾Ö ß 
ú Ö ¸ü 

 ú ü̧ ŸÖ Ö Æîü … 

 (B) ¯ ÖÏµÖ Ö ê�Ö ¾Ö Ö × ¤ ü µÖ Öë 
 êú  †−ÖãÃÖ Ö ¸ü ÃÖ ŸµÖ ´Ö −ÖãÂµÖ 
«ü Ö ¸ü Ö × −Ö Ù ´Ö ŸÖ Æîü … 

 (C) ¯ ÖÏµÖ Ö ê�Ö ¾Ö Ö ¤ ü ß †¬µÖ ÖŸ´Ö ¾Ö Ö¤ ü 
ú Öê ÃÖ ´Ö£Ö Ô−Ö  
¤ êü ŸÖ ê Æïü … 

 (D) ¯ ÖÏµÖ Ö ê�Ö ¾Ö Ö ¤ ü ß × ¾Ö “Ö Ö ¸üÖ ë 
ú ß †¯ Öê� Ö Ö × 
Îú µÖ Ö 
¯ Ö ¸ü †×¬Ö 
ú  ²Ö»Ö ¤êü ŸÖ ê Æïü … 

 
8. †Ö¬Ö ã× −Ö 
ú  ³ÖÖ ¸ü ŸÖß µÖ ×¿ Ö� Ö Ö ´Öë × 
ú ÃÖ −Öê ¯ Ö Ï
éú × ŸÖ ¾ÖÖ ¤ ü 


 êú  ÃÖ ´¯ ÖÏŸµÖ µÖ 
ú Öê †Ö î̄ Ö “Ö Ö ×¸ü 
ú  ºþ¯ Ö ÃÖê ¯ Ö ÏÖ ¸ü ´³Ö 
× 
 ú µÖ Ö ?  

 (A) ™îü �Ö Ö ȩ̂ ü −Öê (B) × ¾Ö ¾Öê
 ú Ö −Ö −¤ ü −Öê 
 (C) �Ö Ö Ó¬Ö ß •Ö ß −Öê (D) †¸ü × ¾Ö −¤ü −Öê 
 
9. “× ¿ Ö ×� Ö ŸÖ −ÖÖ × ¸ü µÖ Öë 
 êú  × ²Ö −Ö Ö × ¿ Ö ×� Ö ŸÖ »Ö Öê�Ö −Ö Æ ü à Æ ü Öê 

ÃÖ 
 ú ŸÖ ê …” ‡ÃÖ 
ú Ö ˆ »»Öê%Ö × 
ú µÖÖ �Ö µÖ Ö Æîü  
 (A) × ¿ Ö� Ö Ö ¯ Ö¸ü ¸ü Ö Â™Òü ß µÖ −Ö ß × ŸÖ (1968) 
êú  

¯ ÖÏÃŸÖ Ö ¾Ö ´Öë … 
 (B) ´Ö × Æ ü »ÖÖ†Öë 
 êú  ¯ ÖÏ× ŸÖ × ¾Ö³Ö ê¤ ü ß
 ú ü̧ 9 Ö 
 úÖ ê 

Æ ü ™ü Ö −Ö ê 
êú  ×»Ö ‹ ÃÖÓµÖ ãŒŸÖ ¸üÖ Â™Òü ‘Ö ÖêÂÖ 9 Ö Ö 
(1967) ´Ö ë … 

 (C) × ¾Ö ¿ ¾Ö × ¾Öª Ö »Ö µÖ ×¿ Ö�Ö Ö †Ö µÖÖ ê�Ö 
(1948-49) ´Ö ë … 

 (D) × ¿ Ö� Ö Ö ¯ Ö ¸ü −Ö ‡Ô −Ö ß ×ŸÖ (1986) ´Öë … 
 
10. ¤ ü ¿ ÖÔ−Ö 
 úÖ × ¾Ö ¿ »ÖêÂÖ 9 ÖÖ Ÿ´Ö 
ú  ÃÖ ´¯ ÖÏ¤ ü Ö µÖ ¯Ö Ï× ŸÖ ¯Ö Ö ×¤ ü ŸÖ 

× 
 ú µÖ Ö 
 (A) ×£Ö µÖ Öê›ü Ö ȩ̂ ü ²Ö Î́ Ö ê»›ü −Öê 
 (B) ²Ö ™Òìü −›ü ¸ü ÃÖê»Ö −Ö ê 
 (C) †Ö ¸ü. ‹ ÃÖ. ×¯ Ö ™ü ÃÖÔ −Ö ê 
 (D) × ¾Ö ™ü ÃÖê−™ü Ö ‡−Ö −Öê 

×¿Ö�ÖÖ 
¯ÖÏ¿−Ö¯Ö¡Ö – II 

 

−ÖÖê™ü :  ‡ÃÖ ¯ ÖÏ¿ −Ö ¯ Ö¡ Ö ´Öë ¯Ö“ÖÖÃÖ (50) ¾Ö ÃŸÖã× −Ö Âšü ¯ ÖÏ¿ −Ö Æ ïü … ¯Ö ÏŸµÖê
 ú  ¯Ö Ï¿ −Ö 
êú  ¤üÖê (2) †Ó
 ú  Æ ïü … ÃÖ³Öß ¯Ö Ï¿ −Ö Öë 
êú  ˆ ¢Ö ¸ü ¤ ü ß × •Ö ‹  … 
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11. “Women are human beings and 

hence as much right to full 

development as men have.” This 

statement was made by 

___________. 

 (A) Mahatma Gandhi 

 (B) S. Radhakrishnan 

 (C) Rabindranath Tagore 

 (D) Smt. Hansa Mehta 
 

12. Aim of complete living in Education 

was propounded by 

 (A) F. Herbert 

 (B) Herbert Spencer 

 (C) John Dewey 

 (D) Plato 
 

13. Who wrote the book “School and 

Society” ? 

 (A) Auguste Comte 

 (B) John Dewey 

 (C) Emile Durkheim 

 (D) Robert Merton 
 

14. “Educational Sociology is neither 

education nor sociology alone but 

joins them in a new Science by 

applying sociological principles to 

the whole process of education.” 

Whose statement is this ? 

 (A) A.K.C. Ottaway 

 (B) George Payne 

 (C) F.J. Brown 

 (D) Herbert Spencer 
 

15. Which of the following is not a sub-

system ? 

 (A) Political sub system 

 (B) Terrorist outfit 

 (C) Economic organizations 

 (D) Family sub system 
 

16. When does the process of 

socialization start for a child ? 

 (A) As a school child 

 (B) As a member in the 

neighbourhood 

 (C) As a member of the family 

 (D) As a member of the society 

17. Which of the following is a primary 

group ? 

 (A) Peer group 

 (B) Classroom group 

 (C) Familial group 

 (D) Basketball group 

 

18. Which of the following is the best 

mobility multiplier ? 

 (A) Income (B) Education 

 (C) Social status (D) Caste 

 

19. What is horizontal mobility 

associated with ? 

 (A) Upliftment in the same stratum 

 (B) Upliftment in the upper 

stratum 

 (C) Change in the stratification 

 (D) Consistency in the 

stratification 

 

20. From sociological point of view the 

process of education is supposed to 

serve two fundamental functions. 

What are they ? 

 (A) Selection and Allocation 

 (B) Conservation and Creation 

 (C) Preservation and Conservation 

 (D) Creation and Dislocation 

 

21. Arrange the following books in the 

chronological order in which they 

appeared. 

 I. Education and Sociology 

 II. School and Society 

 III. Principles of Educational 

Sociology : An outline 

 IV. Dynamic Sociology 

 (A) IV, II, I and III 

 (B) I, III, IV and II 

 (C) III, II, IV and I 

 (D) II, I, III and IV 
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11. “−Ö Ö × ¸ü µÖ Ö Ñ ³Ö ß ´Ö −Ö ãÂµÖ Æ ïü †ŸÖ: ˆ −Æ ëü ³Ö ß ¯ Ö ã¹ýÂÖ Öë 
 êú  
ÃÖ ´Ö Ö −Ö ¯ Öæ9 ÖÔ × ¾Ö 
 úÖ ÃÖ 
ú Ö †×¬Ö
ú Ö ¸ü Æ îü …” µÖ Æ ü 

 ú £Ö −Ö Æîü  

 (A) ´Ö Æ ü Ö Ÿ´ÖÖ �Ö ÖÓ¬Ö ß 
 úÖ 
 (B) ‹ ÃÖ. ü̧ Ö¬Ö Ö
 éú Â9 Ö −Ö 
 úÖ 
 (C) ¸ü × ¾Ö −¦ü −Ö Ö£Ö ™îü �Ö Ö ȩ̂ ü 
ú Ö 
 (D) Á Ö ß ´Ö ŸÖß ÆÓü ÃÖ Ö ´ÖêÆ ü ŸÖ Ö 
 úÖ 
 

12. × ¿ Ö� Ö Ö ´Ö ë ¯Ö æ9 ÖÔ •Ö ß ¾Ö −Ö 
 êú  »Ö� µÖ 
 úÖ ê ¯Ö Ï× ŸÖ ¯Ö Ö ×¤ ü ŸÖ 
× 
 ú µÖ Ö �Ö µÖÖ Æîü 

 (A) ‹ ±ú . Æ ü ¸ü²Ö ™Ôü «ü Ö ¸ü Ö 
 (B) Æ ü ¸ü ²Ö™Ôü Ã¯ Öê−ÃÖ ¸ü «ü Ö ¸üÖ 
 (C) •Ö Ö ò−Ö ›ü ß ¾Ö ß «ü Ö¸ü Ö 
 (D) ¯ »Öê™ü Ö ê «ü Ö ¸ü Ö 
 

13. ‘¤ ü Ã
 æú »Ö ‹9 ›ü ÃÖ Ö êÃÖ Ö ‡™üß’ ¯ Ö ãÃŸÖ 
 ú  
 êú  »Öê%Ö 
 ú 

 ú Öî−Ö Æïü ?  

 (A) †Ö ò�Ö Ã™ü 
ú Öò́ ™êü (B) •Ö Ö ò−Ö ›ü ß ¾Ö ß 
 (C) ‡Ố Ö Ö ‡»Ö ¤ãü %Ö á´Ö (D) ¸ü Ö ò²Ö ™Ôü ´Ö ™Ôü −Ö 
 

14. “¿ Ö î×� Ö 
 ú  ÃÖ ´Ö Ö •Ö ¿ ÖÖ Ã¡ Ö −Ö ŸÖ Öê × ÃÖ ±Ôú  × ¿ Ö� ÖÖ ¿ ÖÖ Ã¡ Ö 
Æ îü, −Ö Æ üß ÃÖ ´Ö Ö •Ö ¿ Ö Ö Ã¡ Ö … µÖÆ ü ŸÖ Öê ¤ ü Ö ê−Ö Öë 
 ú Öê 
× ´Ö »Ö Ö
 ú ü̧ ‹
ú  −Ö‹  ¿Ö Ö Ã¡ Ö 
ú Ö × −Ö ´Ö ÖÔ9 Ö 
 ú ü̧ ŸÖ Ö Æîü, 
× •Ö ÃÖ ´Ö ë ÃÖ ´Ö Ö •Ö ¿ ÖÖ Ã¡ Ö ßµÖ × ÃÖ ¨ü Ö −ŸÖ Öë 
 ú Ö ê × ¿ Ö� Ö Ö 
ú ß 
¯ Öæ̧ ü ß ¯ ÖÏ× 
 Îú µÖ Ö ¯ Ö¸ü »ÖÖ �Ö æ × 
ú µÖ Ö •Ö Ö ŸÖÖ Æîü …” µÖ Æ ü 
× 
 ú ÃÖ 
ú Ö 
 ú £Ö −Ö Æîü ?  

 (A) ‹ . 
êú . ÃÖ ß. †Öò™ü ¾Ö ê 
ú Ö 
 (B) •Ö Ö ò•Ö Ô ¯ Öê−Ö 
 úÖ 
 (C) ‹ ±ú . •Öê. ²ÖÎÖ ˆ −Ö 
ú Ö 
 (D) Æ ü ¸ü ²Ö™Ôü Ã¯ Öê−ÃÖ ¸ü 
ú Ö 
 

15. × −Ö ´−Ö × »Ö ×%Ö ŸÖ ´Ö ë ÃÖê × 
 ú ÃÖê ¯ Öæ̧ ü ß ÃÖ Ö ´ÖÖ × •Ö
 ú 
¯ ÖÏ9 Ö Ö »Ö ß 
ú ß ˆ¯ Ö-¯ ÖÏ9 Ö Ö »Öß −Ö Æü à ´Ö Ö −Ö Ö •Ö Ö ŸÖÖ ?  

 (A) ¸ü Ö •Ö −Ö ß× ŸÖ
 ú  ˆ ¯ Ö-¯ ÖÏ9 Ö Ö »Ö ß 
 (B) †Ö ŸÖ Ó
ú ¾Ö Ö× ¤ ü µÖÖ ë 
ú ß ˆ ¯ Ö-¯ ÖÏ9 Ö Ö »Öß 
 (C) †Ö Ù£Ö 
ú  ˆ¯ Ö-¯Ö Ï9 ÖÖ »Ö ß 
 (D) ¯ Ö Ö × ü̧ ¾Ö Ö× ¸ü
 ú  ˆ ¯ Ö-¯ ÖÏ9 Ö Ö »Ö ß 
 

16. ‹ 
ú  ²Ö Ö »Ö
ú  
êú  × »Ö ‹  ÃÖ ´Ö Ö •Ö ß 
ú ¸ü9 Ö 
ú ß ¯Ö Ï× 
Îú µÖ Ö 

 ú ²Ö ¯ ÖÏÖ ¸ü ´³Ö Æ ü ÖêŸÖ ß Æîü ?  

 (A) × ¾Ö ª Ö»Ö µÖ ß ²Ö Ö »Ö 
ú  
êú  ºþ ¯ Ö ´Ö ë 
 (B) ¯ Ö ›Íü Ö êÃÖ 
 êú  ÃÖ¤ ü ÃµÖ 
 êú  ºþ ¯Ö ´Öë 
 (C) ¯ Ö × ¸ü¾Ö Ö ü̧ 
êú  ÃÖ ¤ ü ÃµÖ 
êú  ºþ ¯ Ö ´Ö ë 
 (D) ÃÖ ´Ö Ö •Ö 
êú  ÃÖ ¤ü ÃµÖ 
êú  ºþ ¯ Ö ´Ö ë 

17. × −Ö ´−Ö × »Ö ×%Ö ŸÖ ´Öë ÃÖ ê 
 úÖ î−Ö ÃÖ Ö ÃÖ ´ÖæÆ ü ¯ ÖÏÖ£Ö × ´Ö 
 ú 
ÃÖ ´Ö æÆ ü 
êú  †−ŸÖ �ÖÔŸÖ †Ö ŸÖÖ Æîü ?  

 (A) ÃÖ Ö£Ö ß ÃÖ ´ÖæÆ ü 
 (B) 
 ú� Ö Ö ÃÖ ´Ö æÆ ü 
 (C) ¯ Ö Ö × ü̧ ¾Ö Ö× ¸ü
 ú  ÃÖ ´Ö æÆ ü 
 (D) ²Ö Ö Ã
êú ™ü ²Ö Öò»Ö ÃÖ ´ÖæÆ ü 
 
18. �Ö ×ŸÖ¿Öß »Ö ŸÖÖ ´Öë †×¬Ö
úÖ ×¬Ö
ú  ¾Öé× ü̈ 
ú ü̧ −Öê Æ êüŸÖã 

× −Ö ´−Ö× »Ö× %Ö ŸÖ ´Öë ÃÖê 
ú Öî−Ö ÃÖÖ 
úÖ¸ü
ú ÃÖ ¾ÖÖì¢Ö ´Ö Æîü ?  
 (A) †Ö µÖ 
 (B) × ¿ Ö� Ö Ö 
 (C) ÃÖ Ö ´Ö Ö × •Ö
 ú  ¯ ÖÏ× ŸÖ Âšü Ö 
 (D) •Ö Ö × ŸÖ 
 

19. � Öî× ŸÖ •Ö �Ö × ŸÖ¿ Ö ß »Ö ŸÖ Ö × −Ö ´−Ö × »Ö × %Ö ŸÖ ´Öë ÃÖ ê × 
 ú ÃÖ ÃÖê 
ÃÖ ´²Ö Û −¬Ö ŸÖ Æ îü ?  

 (A) ÃÖ ´Ö Ö −Ö ÃŸÖ ü̧ ´Öë ˆ −−Ö µÖ −Ö 
 (B) ‰ ú ¯Ö ¸ü 
êú  ÃŸÖ ¸ü ´Öë ˆ −−Ö µÖ −Ö 
 (C) ÃŸÖ ¸ü ß
 ú ¸ü9 Ö ´Ö ë ¯ Ö× ¸ü ¾ÖŸÖÔ−Ö 
 (D) ÃŸÖ ¸ü ß
 ú ¸ü9 Ö ´Ö ë †× ¾Ö “Ö »Ö ŸÖÖ 
 

20. ÃÖ ´Ö Ö •Ö ¿ ÖÖ Ã¡ Ö ß µÖ ¥ü Û Â™ü ÃÖê × ¿ Ö�Ö Ö 
ú ß ¯ ÖÏ× 
 Îú µÖ Ö 
 ú Öê 
¤ ü Öê †Ö¬Ö Ö ¸ü³Ö æŸÖ ¯ ÖÏ
 ú Ö µÖ Ô ¯ Öæ̧ êü 
 ú ¸ü −Öê “Ö Ö × Æ ü‹  … ¾Ö ê ¤ ü Ö ê 
¯ ÖÏ
 ú Ö µÖÔ 
 úÖ î−Ö ÃÖê Æ ïü ?  

 (A) “Ö µÖ −Ö ‹ ¾ÖÓ †Ö ²Ö Ó™ü −Ö 
 (B) ÃÖ Ó̧ ü� Ö9 Ö ‹ ¾ÖÓ ÃÖ é•Ö −Ö 
 (C) ¯ Ö × ¸ü̧ ü�Ö 9 Ö ‹¾ÖÓ ÃÖ Ó̧ ü� Ö 9Ö 
 (D) ÃÖ é•Ö −Ö ‹ ¾Ö Ó × ¾Ö Ã£Ö Ö¯ Ö −Ö 
 

21. × −Ö ´−Ö × »Ö ×%Ö ŸÖ ¯Ö ãÃŸÖ 
ú Öë 
 ú Ö ê ˆ −Ö 
êú  ¯ Ö Ï
ú Ö ¿Ö −Ö 
êú  

 ú Ö»Ö Ö −Öã
 Îú ´Ö 
 êú  †−Öãºþ ¯Ö ¾µÖ¾Ö Û Ã£Ö ŸÖ 
ú ß × •Ö‹  : 

 I. ‹ •Öã
 êú ¿ Ö −Ö ‹9 ›ü ÃÖÖ ê× ¿ Ö µÖ Öê»Ö Ö ò•Ö ß 
 II. Ã
 æú »Ö ‹9 ›ü ÃÖ ÖêÃÖ Ö ‡™ü ß 
 III. × ¯ ÖÏÛ −ÃÖ ¯ Ö »ÃÖ †Öò±ú  ‹ •Öã
 êú ¿Ö −Ö »Ö 

ÃÖ Ö ê× ¿ Ö µÖÖ ê»Ö Öò•Ö ß : ‹ −Ö †Ö ˆ ™ü»Ö Ö ‡−Ö  
 IV. ›ü Ö µÖ −Öê× ´Ö 
 ú  ÃÖ Öê× ¿ Ö µÖ Öê»Ö Ö ò•Ö ß 
 (A) IV, II, I ‹ ¾ÖÓ III 
 (B) I, III, IV ‹ ¾ÖÓ II 
 (C) III, II, IV ‹ ¾ÖÓ I 
 (D) II, I, III ‹ ¾ÖÓ IV 
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22. Match items under Column-I with 
those under Column-II. 
Column – I Column – II 
I. R.J. Brown 1. Education 

and 
Sociology 

II. A.K.C. 
Ottaway 

2. What 
knowledge 
is of most 
worth ? 

III. Herbert 
Spencer 

3. Education 
and Society : 
An 
Introduction 
to Sociology 
of Education. 

IV. E. Durkheim 4. Educational 
Sociology 

 5. A Sociology 
of Education 

 Code : 

  I II III  IV 

 (A) 4 3 2 and 1 

 (B) 1 2 3 and 4 

 (C) 3 2 1 and 5 

 (D) 2 5 4 and 3 
 

23. The term “Untouchability” has been 

abolished according to an Article in 

Constitution. What is that Article ? 

 (A) Article 46 (B) Article 17 

 (C) Article 25 (D) Article 16 
 

24. Why is the school considered a 

Social Institution ? 

 (A) Because it is concerned with 

the welfare of the society. 

 (B) It is concerned with burning 

social issues. 

 (C) It is concerned with social 

evils. 

 (D) It is concerned with the 

shaping of the future society. 
 

25. Which of the following stages of 

cognitive development is not 

described by Bruner ? 

 (A) Enactive (B) Iconic 

 (C) Heteronomy (D) Symbolic 

 

26. The first intelligence test was 

developed by 

 (A) Francis Galton 
 (B) Binet and Simon 
 (C) Lavator 
 (D) William Stern 
 

27. Match the following lists : 
List – I List – II 

(Specific 
Characteristics) 

(Category of 
Children) 

(a) One who 
shows 
consistently 
remarkable 
performance. 

(i) Creative 
child 

(b) One who is 
more sensitive 
to 
environmental 
stimuli. 

(ii) Under 
achiever 
child 

(c) One who does 
not show 
educational 
success 
commensurate 
with his 
abilities. 

(iii) Mentally 
retarded 
child 

(d) One who 
shows sub-
average 
general 
intellectual 
functioning. 

(iv) Gifted 
child 

 (v) Delinquent 
child 

 Code : 
  (a) (b) (c) (d) 
 (A) (iv) (i) (ii) (iii)  
 (B) (i) (iv) (ii) (iii) 
 (C) (iv) (i) (iii) (ii)  
 (D) (iii) (i) (ii) (iv)  
 

28. Rearrange the following hierarchy of 
needs as given by Maslow : 

 a. Safety and security needs. 
 b. Physiological needs. 
 c. Self-esteem needs. 
 d. Love and belongingness needs. 
 (A) b, a, d, c (B) d, a, b, c 
 (C) a, b, d, c (D) b, a, c, d 
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22. 
 ú Öò»Ö ´Ö ‹ 
ú  
êú  ¯ Ö ¤ ü Öë 
 ú Ö 
ú Öò»Ö ´Ö ¤ ü Ö ê 
 êú  ¯ Ö¤ ü Öë ÃÖ ê 
× ´Ö »Ö Ö −Ö 
ú ß × •Ö‹  : 

�úÖò»Ö´Ö–I �úÖò»Ö´Ö–II 
I. ‹ ±ú . •Öê. 

²Ö ÎÖ ˆ −Ö 
1. ‹ •Öã
 êú ¿ Ö −Ö ‹9 ›ü 

ÃÖ Ö ê× ¿ Ö µÖÖ ê»Ö Öò•Ö ß 
II. ‹ . 
êú . ÃÖ ß. 

†Ö ò™ü ¾Öê 
2. ¾Ö Ö ™ü −Ö Öò»Ö ê•Ö ‡•Ö Ì †Ö ò±Ìú  

´Ö Ö êÃ™ü ¾Ö£ÖÔ ? 

III. Æ ü ¸ü ²Ö™Ôü 
Ã¯ Ö ê−ÃÖ ¸ü 

3. ‹ •Öã
 êú ¿ Ö −Ö ‹9 ›ü 
ÃÖ Ö êÃÖ Ö ‡™ü ß : ‹ −Ö 
‡−™Òü Ö ê›ü Œ¿ Ö −Ö ™æü 
ÃÖ Ö ê× ¿ Ö µÖÖ ê»Ö Öò•Ö ß †Öò±ú  
‹ •Öã
 êú ¿ Ö −Ö 

IV. ‡Ô. ¤ ãü %Ö á´Ö 4. ‹ •Öã
 êú ¿ Ö −Ö»Ö 
ÃÖ Ö ê× ¿ Ö µÖÖ ê»Ö Öò•Ö ß 

 5. ‹  ÃÖ Öê× ¿ Ö µÖÖ ê»Ö Öò•Ö ß †Öò±ú  
‹ •Öã
 êú ¿ Ö −Ö 

 �úÖê›ü : 
  I II III IV 

 (A) 4 3 2   ‹ ¾ÖÓ 1 
 (B) 1 2 3   ‹ ¾ÖÓ 4 
 (C) 3 2 1   ‹ ¾ÖÓ 5 
 (D) 2 5 4   ‹ ¾ÖÓ 3  
 
23. ÃÖÓ×¾Ö¬ÖÖ−Ö 
êú ×
úÃÖ †−Öã“”êû¤ü 
êú †−ÖãÃÖÖ¸ü 

‘†Ã¯Öé¿µÖŸÖÖ’ ¿Ö²¤ü 
úÖê ÃÖ´ÖÖ¯ŸÖ 
ú ü̧ ×¤üµÖÖ �ÖµÖÖ Æîü ? 
 (A) †−Ö ã“”êû¤ ü 46 (B) †−Ö ã“”êû¤ ü 17 
 (C) †−Ö ã“”êû¤ ü 25 (D) †−Ö ã“”êû¤ ü 16 
 
24. × ¾Ö ª Ö»Ö µÖ 
 ú Öê ‹ 
ú  ÃÖ Ö ´ÖÖ × •Ö
 ú  ÃÖÓÃ£Ö Ö 
 úÆ ü Ö •ÖÖ ŸÖ Ö 

Æ îü, ŒµÖÖ ë× 
ú   
 (A) µÖ Æ ü ÃÖ ´Ö Ö •Ö 
êú  
 ú »µÖ Ö9 Ö ÃÖê ÃÖ ´²Ö Û −¬Ö ŸÖ 

Æ îü … 
 (B) µÖÆü •¾Ö»ÖÓŸÖ ÃÖÖ ´Ö Ö× •Ö
ú ´Öã§ üÖë ÃÖê •Öã›ÍüÖ Æîü … 
 (C) µÖÆü ÃÖÖ´ÖÖ×•Ö
ú ²Öã̧ üÖ‡µÖÖë ÃÖê ÃÖ´²ÖÛ−¬ÖŸÖ Æîü … 
 (D) µÖ Æ ü ³Ö × ¾Ö ÂµÖ 
êú  ÃÖ ´Ö Ö •Ö 
êú  × −Ö ´ÖÖ Ô9 Ö ÃÖ ê 

ÃÖ ´²Ö Û −¬Ö ŸÖ Æ îü … 
 

25. ÃÖ Ó–Ö Ö −Ö Ö Ÿ´Ö
 ú × ¾Ö
ú Ö ÃÖ 
 úß × −Ö ´−Ö× »Ö ×%Ö ŸÖ 
†¾Ö Ã£Ö Ö†Öë ´Ö ë ÃÖ ê 
 ú Öî−Ö ÃÖ ß †¾Ö Ã£Ö Ö 
 úÖ ¾Ö9 ÖÔ−Ö 
²Ö Îæ−Ö ¸ü «ü Ö ¸üÖ −Ö Æü à × 
ú µÖ Ö �Ö µÖ Ö Æîü ?  

 (A) ÃÖ × 
Îú µÖ (B) ´Ö æŸÖ Ô 
 (C) ¯ Ö ¸ü Ö¬Ö ß −Ö ŸÖÖ (D) ¯ ÖÏŸÖ ß 
 úÖ Ÿ´Ö 
ú  

26. ¯ ÖÏ£Ö ´Ö ²Ö ã× ¨ü ¯ Ö ü̧ ß�Ö 9Ö 
ú Ö × ¾Ö
 ú Ö ÃÖ ×
 ú µÖÖ £Ö Ö 
 (A) ±Ïú Ö Û −ÃÖ ÃÖ �Ö Ö »™ü −Ö −Öê 
 (B) × ²Ö −Öê ‹ ¾ÖÓ ÃÖ Ö ‡´Ö −Ö −Öê 
 (C) »Ö ê¾Ö ê™ü ¸ü −Ö ê 
 (D) × ¾Ö × »ÖµÖ ´Ö Ã™ü −ÖÔ −Ö ê 
 

27. × −Ö ´−Ö × »Ö ×%Ö ŸÖ ÃÖ æ× “Ö µÖ Öë 
 úÖ × ´Ö »Ö Ö −Ö 
 úß × •Ö‹  :  
ÃÖæ“Öß – I 

(×¾Ö×¿ÖÂ™ü ×¾Ö¿ÖêÂÖŸÖÖ‹Ñ) 
ÃÖæ“Öß – II 

(²ÖÖ»Ö�úÖë �úß ÁÖê'Öß) 
a. ‹ 
ú  •Ö Öê »Ö �Ö Ö ŸÖ Ö ¸ü 

ˆ »»Öê%Ö −Ö ß µÖ 
ˆ ¯ Ö »Ö Û ²¬Ö ¯ ÖÏ¤ ü Ù ¿Ö ŸÖ 

 ú ü̧ ŸÖ Ö Æîü … 

(i) ÃÖ é•Ö −Ö ¿ Ö ß »Ö 
²Ö Ö »Ö
 ú 

b. ‹
ú •ÖÖê ¯ÖµÖÖÔ¾Ö ü̧9ÖßµÖ 
ˆ§üß̄ Ö
úÖë 
êú ¯ÖÏ×ŸÖ 
†×¬Ö
ú ÃÖÓ¾Öê¤ü−Ö¿Öß»Ö 
Æîü … 

(ii) †»¯ Ö ˆ ¯ Ö»Ö Û ²¬Ö 
¾Ö Ö »Öê ²Ö Ö »Ö
 ú 

c. ‹ 
ú  •ÖÖ ê †¯Ö −Ö ß 
µÖ Ö ê�µÖ ŸÖ Ö†Öë 
êú  
†−Ö ãºþ ¯ Ö ¿ Öî×� Ö
 ú 
ÃÖ ±ú »Ö ŸÖÖ ¯ ÖÏ¤ ü Ù ¿Ö ŸÖ 
−Ö Æ ü à 
ú ¸ü ŸÖ Ö Æ îü … 

(iii) ́ Ö Ö −Ö × ÃÖ 
ú  ºþ¯ Ö 
ÃÖ ê ´Ö Ó× ¤ ü ŸÖ ²Ö Ö »Ö
 ú 

d. ‹ 
ú  •Ö Öê †Ö îÃÖ ŸÖ ÃÖ ê 

 ú ´Ö ²Ö Öî× ¨ü 
 ú  ¯ ÖÏ
 ú Ö µÖÔ 

 ú Ö ¯Ö Ï¤ ü ¿Ö Ô−Ö 
ú ¸üŸÖ Ö          
Æ îü … 

(iv) ̄ ÖÏ× ŸÖ³Ö Ö ¿Ö Ö »Öß 
²Ö Ö »Ö
 ú 

 (v) ²Ö Ö »Ö †¯ Ö ¸üÖ¬Ö ß  
 �úÖê›ü : 
  a b c d 

 (A) (iv) (i) (ii) (iii) 

 (B) (i) (iv) (ii) (iii) 

 (C) (iv) (i) (iii) (ii) 

 (D) (iii) (i) (ii) (iv) 

 

28. ´Ö Ö Ã»Ö Öê 
 êú  «üÖ ¸ü Ö ¤ ü ß �Ö ‡Ô †Ö ¾Ö¿ µÖ
 ú ŸÖ Ö†Öë 
êú  
†×¬Ö 
Îú ´Ö 
ú Öê ¯ Ö ã−Ö ¾µÖÔ¾Ö Û Ã£Ö ŸÖ 
 ú ß× •Ö‹  : 

 a. ¸ü� Ö Ö ‹¾ÖÓ ÃÖ ã̧ ü� Ö Ö †Ö¾Ö ¿µÖ 
ú ŸÖÖ ‹Ñ 
 b. ¿ Ö Ö ¸üß × ¸ü
 ú †Ö ¾Ö¿ µÖ
 ú ŸÖ Ö‹ Ñ 
 c. †Ö Ÿ´Ö ÃÖ ´´Ö Ö −Ö †Ö¾Ö ¿ µÖ 
ú ŸÖÖ ‹Ñ 
 d. ¯ ÖÏế Ö ‹ ¾Ö Ó ŸÖ ¤ü ß µÖ Ÿ¾Ö 
 ú ß †Ö ¾Ö¿ µÖ
 ú ŸÖ Ö‹ Ñ 
 �úÖê›ü : 
 (A) b, a, d, c (B) d, a, b, c 

 (C) a, b, d, c (D) b, a, c, d 
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29. According to type theory of 
personality, a tall, thin and stoop 
shouldered person will come under 
the category of 

 (A) Endomorphic (B) Ectomorphic 
 (C) Athletic (D) Pyknic 
 

30. The concept of emotional 
intelligence does not involve the 
ability to 

 (A) understand emotions 
 (B) regulate emotions 
 (C) appraise and express emotions 
 (D) arouse emotions 
 

31. In the formula SER = D × SHR × K – 
1, K denotes   

 (A) Habit strength 
 (B) Incentive 
 (C) Drive 
 (D) Excitatory potential 
 

32. The correct sequence of the 
following items of Gague’s 
hierarchy of learning is 

 a. Signal learning 
 b. Problem solving  
 c. Rule learning 
 d. Multiple discrimination 
 (A) d, c, b, a (B) c, d, a, b 
 (C) a, d, c, b (D) b, c, d, a 
 

33. Which of the following is not the 
axiom of learning ? 

 (A) Simple to Complex 
 (B) Specific to General 
 (C) Tangible to Intangible 
 (D) Known to Unknown 
 

34. Critically judge the following : 
 Assertion (A) : Learning of 

principles has to be given 
utmost importance in the 
classrooms. 

 Reason (R) : Knowledge of 
principles facilitates transfer of 
learning to a greater extent. 

 (A) Both (A) and (R) are incorrect. 
 (B) Only (R) is correct. 
 (C) Both (A) and (R) are correct, 

but (R) is not a correct 
explanation for (A). 

 (D) Both (A) and (R) are correct 
and (R) is the correct 
explanation for (A). 

35. Critically judge the following : 

 Assertion (A) : Early admission to 

school is not scientific. 

 Reason (R) : It is against 

democratic principles. 

 (A) Only (A) is correct. 

 (B) Only (R) is correct. 

 (C) Both (A) and (R) are correct 

and (R) is the correct 

explanation for (A). 

 (D) Both (A) and (R) are correct, 

but (R) is not a correct 

explanation for (A). 

 

36. Critically judge the following : 

 Assertion (A) : Classroom 

instruction should involve 

variety of strategies. 

 Reason (R) : There are 

individual differences in 

Learning styles among 

students. 

 (A) Both (A) and (R) are correct, 

and (R) is the correct 

explanation for (A). 

 (B) Both (A) and (R) are correct, 

but (R) is not the correct 

explanation for (A). 

 (C) Only (R) is correct. 

 (D) Only (A) is correct. 

 

37. A researcher studies the effect of 

peer group interaction on Learning 

styles. The variable ‘Learning style’ 

in this study functions as : 

 (A) Independent variable 

 (B) Dependent variable 

 (C) Controlled variable 

 (D) Intervening variable 

 

38. Which of the following may be most 

appropriately used for measuring self 

confidence ? 

 (A) An Aptitude test 

 (B) An Archival test 

 (C) An Attitudinal test 

 (D) An Achievement test 
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29. ¾µÖ Û ŒŸÖŸ¾Ö 
 êú  ¯ ÖÏ
 ú Ö ¸ü × ÃÖ ¨ü Ö −ŸÖ 
êú  †−Ö ãÃÖ Ö ¸ü, ‹
 ú 
»Ö ´²Ö Ö, ¯ Ö ŸÖ »Ö Ö ‹ ¾Ö Ó — Öã
 êú  Æãü ‹  
Óú ¬Ö Öë ¾Ö Ö »Ö Ö ¾µÖÛ ŒŸÖ 
× •Ö ÃÖ Á Öê9 Ö ß ´Öë †Ö µÖê�Ö Ö, ¾Ö Æü Á Öê9 Ö ß Æîü 

 (A) Ã£Ö æ»Ö Ö 
 úÖ ¸ü (B) »Ö ´²Ö Ö 
ú Ö ü̧ 
 (C) ‹ £»Öê× ™ü 
 ú (D) × ¯ Ö
 ú × −Ö 
ú  
 

30. ÃÖ Ó¾Ö ê�Ö Ö Ÿ´Ö 
ú  ²Ö ã× ¨ü 
 úß †¾Ö¬Ö Ö ¸ü9 Ö Ö ´Öë × −Ö ´−Ö ´Öë ÃÖ ê 

 ú Öî−Ö ÃÖ ß µÖÖ ê�µÖ ŸÖ Ö ÃÖÛ ´´Ö × »ÖŸÖ −ÖÆ ü à Æîü ?  

 (A) ÃÖ Ó¾Ö ê�Ö Ö ë 
 úÖ ê ÃÖ ´Ö— Ö −Ö Ö … 
 (B) ÃÖ Ó¾Ö ê�Ö Ö ë 
 úÖ ê × −Ö µÖ× ´Ö ŸÖ 
ú ¸ü −Ö Ö … 
 (C) ÃÖ Ó¾Ö ê�Ö Ö ë 
 ú ß †×³Ö ¾µÖÛ ŒŸÖ †Öî̧ ü 

´Ö æ»µÖ Ö Ó
 ú −Ö … 
 (D) ÃÖ Ó¾Ö ê�Ö Ö ë 
 úÖ ê •Ö Ö �ÖÏŸÖ 
ú ¸ü −Ö Ö … 
 

31. ÃÖ æ¡ Ö SER = D × SHR × K – 1, ´Ö ë K 
 ú Ö 
†£Ö Ô Æ îü  

 (A) †Ö ¤ ü ŸÖ ²Ö »Ö (B) ¯ ÖÏȩ̂ ü 9 Ö Ö 
 (C) ¯ÖÏ9ÖÖê¤ü−Ö (D) ˆ¢Öê•Ö−ÖÖŸ´Ö
ú �Ö´ÖŸÖÖ 
 

32. †×¬Ö �Ö ´Ö 
 úß �Ö Ö ‡−Öê 
 ú ß ÀÖéÓ%Ö »Ö Ö ´Ö ë × −Ö ´−Ö ¯ Ö¤ ü Öë 
 ú Ö 
ÃÖ Æ ü ß 
Îú ´Ö ŒµÖ Ö Æîü ?  

 a. ÃÖ Ó
 êú ŸÖ †×¬Ö �Ö ´Ö 
 b. ÃÖ ´Ö ÃµÖ Ö ÃÖ ´Ö Ö¬ÖÖ −Ö 
 c. × ÃÖ ¨ü ÖÓŸÖ †×¬Ö �Ö ´Ö 
 d. ²Ö Æãü × ¾Ö 
ú »¯Ö ß µÖ × ¾Ö³Ö ê¤ ü ß
 ú ü̧ 9 Ö 
 (A) d, c, b, a (B) c, d, a, b 

 (C) a, d, c, b (D) b, c, d, a 
 

33. × −Ö ´−Ö ´Ö ë ÃÖê 
 ú Öî−Ö ÃÖ Ö †×¬Ö �Ö ´Ö 
ú Ö ÃÖæ¡ Ö −Ö Æü à Æîü ?  
 (A) ÃÖ ¸ü »Ö ÃÖê 
 ú× šü −Ö 
 úß †Öȩ̂ ü 
 (B) × ¾Ö × ¿Ö Â™ü ÃÖê ÃÖ Ö ´Ö Ö −µÖ 
ú ß †Öȩ̂ ü 
 (C) ´Ö æŸÖ Ô ÃÖ ê †´Ö æŸÖ Ô 
ú ß †Öȩ̂ ü 
 (D) –Ö Ö ŸÖ ÃÖê †–Ö Ö ŸÖ 
ú ß †Öȩ̂ ü 
 

34. × −Ö ´−Ö 
ú ß ÃÖ ´Öß� ÖÖ 
ú ß× •Ö ‹ : 
 †Ö¬ÖÖ¸ü-�ú£Ö−Ö (A) : 
ú �Ö Ö ´Öë × ÃÖ ¨ü ÖÓŸÖ Ö ë 
êú  

†×¬Ö �Ö ´Ö 
ú Öê ÃÖ ²Ö ÃÖê †×¬Ö 
ú  ´ÖÆ ü ¢Ö Ö ¤ ü ß 
•Ö Ö −Ö ß “ÖÖ × Æü ‹  … 

 �úÖ¸ü'Ö (R) : × ÃÖ¨üÖÓŸÖÖë 
úÖ –Ö Ö−Ö 
úÖ ±úß Æ ü¤ü ŸÖ
ú  
†×¬Ö �Ö ´Ö 
êú Ã£ÖÖ −Ö ÖÓŸÖ ü̧9Ö ´Öë ÃÖÆ üÖ µÖ
ú Æîü … 

 (A) ¤ ü Öê−Ö Ö ë (A) ŸÖ£Ö Ö (R) ÃÖÆ ü ß −Ö Æ ü à Æ ïü … 
 (B) 
 êú ¾Ö»Ö (R) ÃÖÆ ü ß Æîü … 
 (C) (A) ŸÖ£Ö Ö (R) ¤ ü Ö ê−Ö Ö ë ÃÖ Æ ü ß Æïü, Ø 
 ú ŸÖ ã 

(R), (A) 
ú Ö ÃÖÆ ü ß 
ú Ö ¸ü9 Ö −ÖÆ ü à Æîü … 
 (D) (A) †Ö î̧ ü (R) ¤ ü Ö ê−Ö Ö ë ÃÖ Æ ü ß Æïü ŸÖ£Ö Ö 

(R), (A) 
ú Ö ÃÖÆ ü ß 
ú Ö ¸ü9 Ö ³Ö ß Æ îü … 

35. × −Ö ´−Ö 
ú ß ÃÖ ´Öß� ÖÖ 
ú ß× •Ö ‹ : 
 †Ö¬ÖÖ¸ü-�ú£Ö−Ö (A) : Ã
æú »Ö ´Öë •Ö »¤ ü ß ¯ ÖÏ¾Öê¿ Ö 

¾Ö î–Ö Ö × −Ö
 ú −Ö Æ ü à Æîü …  

 �úÖ¸ü'Ö (R) : µÖ Æü »Ö Öê
 ú ŸÖÖ Ó× ¡ Ö
 ú  × ÃÖ ¨ü ÖÓŸÖ Ö ë 
êú  
× ¾Ö ¹ý¨ü Æîü … 

 (A) 
 êú ¾Ö»Ö (A) ÃÖ Æ üß Æîü … 
 (B) 
 êú ¾Ö»Ö (R) ÃÖÆ ü ß Æîü … 
 (C) (A) †Ö î̧ ü (R) ¤ ü Ö ê−Ö Ö ë ÃÖ Æ ü ß Æïü ŸÖ£Ö Ö 

(R), (A) 
ú Ö ÃÖÆ ü ß 
ú Ö ¸ü9 Ö Æîü … 
 (D) (A) †Ö î̧ ü (R) ¤ ü Öê−Ö Ö ë ÃÖ Æ ü ß Æ ïü, Ø
 ú ŸÖ ã 

(R), (A) 
ú Ö ÃÖÆ ü ß 
ú Ö ¸ü9 Ö −ÖÆ ü à Æîü … 
 
36. × −Ö ´−Ö 
ú ß ÃÖ ´Öß� ÖÖ 
ú ß× •Ö ‹ : 
 †Ö¬ÖÖ¸ü-�ú£Ö−Ö (A) : 
 ú� Ö Ö ´Öë †¬µÖ Ö ¯ Ö −Ö-
ú Ö µÖÔ 

´Ö ë ŸÖ ¸üÆ ü-ŸÖ ü̧ Æ ü 
ú ß µÖ ãÛ ŒŸÖ µÖ ÖÑ ÃÖ Û ´´Ö × »Ö ŸÖ 
Æ ü Öê−Ö ß “Ö Ö ×Æ ü ‹ … 

 �úÖ¸ü'Ö (R) : ”ûÖ ¡ Ö Öë 
 ú ß †×¬Ö �Ö ´Ö ¿Ö î»Ö ß ´Öë 
¾µÖ Û ŒŸÖ �ÖŸÖ ×¾Ö ×³Ö −−Ö ŸÖ Ö‹Ñ Æ ïü … 

 (A) (A) †Ö î̧ ü (R) ¤ ü Ö ê−Ö Ö ë ÃÖ Æ ü ß Æïü ŸÖ£Ö Ö 
(R), (A) 
ú Ö ÃÖÆ ü ß 
ú Ö ¸ü9 Ö Æîü … 

 (B) (A) †Ö î̧ ü (R) ¤ ü Öê−Ö Ö ë ÃÖ Æ ü ß Æ ïü, Ø
 ú ŸÖ ã 
(R), (A) 
ú Ö ÃÖÆ ü ß 
ú Ö ¸ü9 Ö −ÖÆ ü à Æîü … 

 (C) 
 êú ¾Ö»Ö (R) ÃÖÆ ü ß Æîü … 
 (D) 
 êú ¾Ö»Ö (A) ÃÖÆ ü ß Æîü … 
 

37. 
 ú Öê‡Ô ¿ Ö Ö ê¬Ö 
 úŸÖ ÖÔ †×¬Ö �Ö ´Ö ¿ Ö î»Ö ß ¯ Ö ¸ü ÃÖ Æü ¯ ÖÖ šü ß 
†ÓŸÖ:× 
Îú µÖ Ö 
êú  ¯ ÖÏ³Ö Ö ¾Ö 
 úÖ †¬µÖ µÖ −Ö 
 ú¸ü −Ö Ö 
“Ö Ö Æ ü ŸÖ Ö Æ îü … ‡ÃÖ †¬µÖ µÖ −Ö ´Öë †×¬Ö �Ö ´Ö ¿ Öî»Ö ß  

 (A) Ã¾Ö ŸÖÓ¡ Ö “Ö ¸ü Æîü … 
 (B) †Ö ×Á Ö ŸÖ “Ö ¸ü Æîü … 
 (C) × −Ö µÖÓ× ¡ Ö ŸÖ “Ö¸ü Æîü … 
 (D) ´Ö¬µÖ ¾Ö ŸÖ á “Ö ü̧ Æîü … 
 

38. × −Ö ´−Ö ´Ö ë ÃÖ ê × 
 ú ÃÖ
 úÖ ê †Ö Ÿ´Ö × ¾Ö¿ ¾ÖÖ ÃÖ 
êú  ´Ö Ö ¯ Ö −Ö ´Ö ë 
¯ ÖÏµÖ ãŒŸÖ × 
ú µÖ Ö •Ö Ö ÃÖ
 úŸÖ Ö Æîü ?  

 (A) †×³Ö�Ö ´Ö ŸÖ Ö ¯ Ö ü̧ ß�Ö 9Ö 
 (B) †×³Ö »Öê%Ö Ö Ÿ´Ö 
ú  ¯ Ö ¸ü ß� Ö9 Ö 
 (C) †×³Ö ¾Öé× ¢Ö ¯ Ö ü̧ ß�Ö 9Ö 
 (D) ˆ ¯ Ö »Ö Û ²¬Ö ¯ Ö ¸üß� Ö9 Ö 
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39. Which of the following statements is 
not applicable on the data in a 
descriptive    research ? 

 (A) It may be qualitative, in verbal 
symbols. 

 (B) It may be quantitative, in 
mathematical symbols. 

 (C) It may be qualitative and 
quantitative both. 

 (D) It is only qualitative, never 
quantitative. 

 

40. Which one of the following indicates 
the higher level of significance ? 

 (A) 0.10 (B) 0.001 
 (C) 0.01 (D) 1.00 
 

41. Which of the following statements is 
not correct ? 

 (A) A test cannot be valid without 
being reliable. 

 (B) A test can be reliable without 
being valid. 

 (C) A test can be reliable and valid 
both. 

 (D) A test can be valid without 
being reliable. 

 

42. Two characteristics of Ex Post Facto 
research are 

 (A) Randomization and 
comparison of groups. 

 (B) Non-manipulation and 
randomization. 

 (C) Non-randomization and 
manipulation of independent 
variables. 

 (D) Non-manipulation and non-
randomization. 

 

43. Which of the following is a non-
parametric correlation ? 

 (A) Product moment 
 (B) Rank difference 
 (C) Point Biserial 
 (D) Partial 
 

44. What percent of IQ scores lie 
between 85 and 130 in a normal 
distribution with a mean of 100 and 
SD of 15 points ? 

 (A) 79.85 (B) 80.85 
 (C) 82.85 (D) 81.85 

45. When is the Type-I error increased ? 
 (A) When alpha-level decreases 
 (B) When alpha-level increases 
 (C) When the sample size 

increases 
 (D) When the sample size 

decreases 
 

46. Which of the following poses a 
threat to internal validity ? 

 (A) Interference of prior 
treatments. 

 (B) Interaction effect of 
independent variables. 

 (C) Interaction of treatment 
variables. 

 (D) Interaction of selection and 
maturation. 

 

47. If the alpha level of a particular test 
is lowered from 0.05 to 0.001, then 
the risk of committing Type-I error 
will 

 (A) increase 
 (B) remain unchanged 
 (C) decrease 
 (D) not be predictable 
 

48. In case of ANOVA, what is between 
sum of squares ? 

 (A) The variance caused by 
treatment variable 

 (B) The variance caused by the 
difference within subjects 

 (C) The variance caused by the 
extraneous factors 

 (D) Total variance of the 
dependent variable 

 

49. Which of the following methods 
should be used for establishing 
reliability of the Questionnaire ? 

 (A) Test-retest method 
 (B) Split-half method 
 (C) Parallel form method 
 (D) Rational equivalence method 
 

50. Which of the following is an 
example of a qualitative research ? 

 (A) Descriptive survey 
 (B) Experimental study 
 (C) Ex Post Facto study 
 (D) Case study 
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39. × −Ö ´−Ö ´Öë ÃÖ ê 
ú Öî−Ö ÃÖ Ö 
 ú £Ö −Ö ×¾Ö ¾Ö ü̧ 9Ö Ö Ÿ´Ö
 ú 
†¬µÖ µÖ −Ö 
êú  ŸÖ£µÖÖ ë 
êú  × »Ö‹  ÃÖÆ ü ß −Ö Æ ü à Æ îü ?  

 (A) µÖ Æ ü ¿ Ö²¤ ü-¯ ÖÏŸÖ ß 
 úÖ ë ´Ö ë �Ö ã9 Ö Ö Ÿ´Ö 
ú  Æ üÖ ê 
ÃÖ 
 ú ŸÖ Ö Æ îü … 

 (B) µÖ Æ ü �Ö ×9 Ö ŸÖß µÖ ¯ ÖÏŸÖ ß 
ú Öë ´Ö ë ¯ Ö × ¸ü ´Ö Ö 9Ö Ö Ÿ´Ö
 ú 
Æ ü Öê ÃÖ 
 ú ŸÖ Ö Æ îü … 

 (C) µÖ Æ ü �Öã9 Ö Ö Ÿ´Ö 
ú  ŸÖ£Ö Ö ¯ Ö × ü̧ ´Ö Ö 9Ö Ö Ÿ´Ö
 ú 
¤ ü Öê−Ö Ö ë Æ ü Öê ÃÖ 
 ú ŸÖÖ Æîü … 

 (D) µÖ Æ ü 
êú ¾Ö »Ö �Ö ã9 ÖÖ Ÿ´Ö 
ú  Æ ü Öê ÃÖ 
ú ŸÖ Ö Æîü, 
¯ Ö × ¸ü ´ÖÖ 9Ö Ö Ÿ´Ö
 ú  
ú ³Ö ß −Ö Æ ü à … 

 

40. × −Ö ´−Ö ´Ö ë ÃÖê 
 ú Öî−Ö ÃÖ Ö ÃÖ ¾ÖÖ ì““Ö 
ú Öê× ™ü 
ú ß 
ÃÖ Ö£Ö Ô
 ú ŸÖ Ö 
 ú Ö ÃŸÖ ¸ü ¤ ü¿ Ö ÖÔŸÖ Ö Æîü ?  

 (A) 0.10 (B) 0.001 
 (C) 0.01 (D) 1.00 
 

41. × −Ö ´−Ö ´Ö ë ÃÖê 
 ú Öî−Ö ÃÖ Ö 
ú £Ö −Ö ÃÖÆ ü ß −Ö Æ ü à Æ îü ?  
 (A) 
 ú Öê‡Ô ¯ Ö ¸üß� Ö9 Ö × ¾Ö¿ ¾Ö ÃÖ −Ö ß µÖ ŸÖ Ö 
 êú  × ²Ö −Ö Ö 

¾Ö î¬Ö −Ö Æ ü à Æ ü Öê ÃÖ 
 úŸÖ Ö … 
 (B) 
 ú Öê‡Ô ¯ Ö ¸ü ß� Ö9 Ö ¾Öî¬Ö ŸÖ Ö 
êú  × ²Ö −Ö Ö 

× ¾Ö ¿ ¾Ö ÃÖ −Ö ß µÖ Æ üÖ ê ÃÖ 
ú ŸÖÖ Æîü … 
 (C) 
 ú Öê‡Ô ¯ Ö ¸ü ß� Ö9 Ö ¾Öî¬Ö ŸÖ£Ö Ö × ¾Ö ¿ ¾Ö ÃÖ −Ö ß µÖ 

¤ ü Öê−Ö Ö ë Æ ü Öê ÃÖ 
 ú ŸÖÖ Æîü … 
 (D) 
 ú Öê‡Ô ¯ Ö ¸üß� Ö9 Ö × ¾Ö¿ ¾Ö ÃÖ −Ö ß µÖ ŸÖ Ö 
 êú  × ²Ö −Ö Ö 

³Ö ß ¾Öî¬Ö Æ ü Öê ÃÖ 
ú ŸÖ Ö Æîü … 
 

42. × 
 ú ÃÖ ß 
 úÖ µÖ Öì¢Ö ¸ü ¿ Ö Öê¬Ö 
 ú ß ¤ ü Öê × ¾Ö ¿ ÖêÂÖ ŸÖ Ö ‹Ñ × −Ö ´−Ö ´Ö ë 
ÃÖ ê 
 ú Öî−Ö ÃÖ ß Æ ïü ?  

 (A) µÖ Ö ¥ü Û “”û
ú ß
 ú ü̧ 9 Ö ŸÖ£Ö Ö ÃÖ ´ÖæÆ ü Öë 
 ú ß 
ŸÖ ã»Ö −Ö Ö 

 (B) “Ö ¸ü Öë 
 ú Ö Æêü ¸ü ±êú ¸ü −ÖÆ ü à, µÖ Ö ¥ü Û “”û
ú ß 
ú ¸ü9 Ö  
 (C) µÖ Ö ¥ü Û “”û
ú ß
 ú ü̧ 9 Ö −ÖÆ ü à ŸÖ£Ö Ö Ã¾Ö ŸÖÓ¡ Ö 

“Ö ¸ü Öë 
 ú Ö Æêü ¸ü ±êú ¸ü 
 (D) Æ êü ¸ü ±êú ¸ü −Ö Æ ü à, µÖ Ö ¥ü Û “”û
 ú ß
ú ¸ü9 Ö ³Öß −ÖÆ ü à 
 

43. × −Ö ´−Ö ´Ö ë ÃÖê 
 ú Öî−Ö ÃÖ Ö †¯Ö ÏÖ “Ö × »Ö 
ú  ÃÖ Æü ÃÖÓ²Ö Ó¬Ö Æ îü ?  
 (A) ¯ ÖÏÖ ê›ü Œ™ü ´Ö Öế Ö ë™ü 
 (B) 
 Îú ´Ö †ÓŸÖ ¸ü 
 (C) ¯ Ö Öò‡Ó™ü ²Ö Ö ‡Ô ÃÖ ß × ü̧ µÖ »Ö  
 (D) †Ö Ó× ¿ Ö
 ú  
 

44. ‹ 
ú  ÃÖÖ ´Ö Ö −µÖ × ¾ÖŸÖ ¸ü9 Ö ´Ö ë, × •Ö ÃÖ 
ú Ö ´Ö¬µÖ ´Ö Ö −Ö 
100 ŸÖ£Ö Ö ´Ö Ö −Ö 
ú  × ¾Ö “Ö»Ö −Ö 15 Æîü, 85 ŸÖ£Ö Ö 
130 
 êú  ²Öß “Ö ×
 úŸÖ −Öê ¯ ÖÏ× ŸÖ ¿ Ö ŸÖ ¯ ÖÏÖ ¯ ŸÖÖ Ó
 ú Æ üÖ ë�Ö ê ?  

 (A) 79.85 (B) 80.85 
 (C) 82.85 (D) 81.85 

45. ¯ ÖÏ£Ö ´Ö ¯ Ö Ï
 úÖ ¸ü 
 úß ¡ Öã× ™ü 
 ú ²Ö ²Ö œÍü ŸÖ ß Æîü ?  
 (A) •Ö ²Ö †»±úÖ-ÃŸÖ ¸ü ‘Ö ™ü ŸÖ Ö Æîü … 
 (B) •Ö ²Ö †»±úÖ-ÃŸÖ ¸ü ²Ö œÍü ŸÖ Ö Æîü … 
 (C) •Ö ²Ö −µÖ Ö¤ ü ¿ ÖÔ ²Ö œÍü ŸÖ Ö Æîü … 
 (D) •Ö ²Ö −µÖ Ö¤ ü ¿ ÖÔ ‘Ö ™ü ŸÖ Ö Æîü … 
 

46. × −Ö ´−Ö ´Öë ÃÖ ê 
 ú Öî−Ö ÃÖ Ö †ÖÓŸÖ × ¸ü
 ú  ¾Öî¬Ö ŸÖ Ö 
êú  × »Ö ‹ 
“Ö ã−Ö Ö îŸÖ ß Æ îü ?  

 (A) ¯ Öæ¾Ö Ô-ˆ ¯ Ö Ö µÖ 
ú Ö ¤ ü %Ö »Ö 
 (B) Ã¾Ö ŸÖÓ¡ Ö “Ö ¸ü Öë 
 úß †ÓŸÖ:× 
 Îú µÖÖ 
ú Ö ¯ ÖÏ³Ö Ö ¾Ö 
 (C) ˆ ¯ Ö Ö µÖ-“Ö ¸üÖ ë 
ú ß †ÓŸÖ:× 
Îú µÖ Ö 
 (D) “Ö µÖ −Ö ŸÖ£ÖÖ ¯Ö × ¸ǖ Ö Œ¾Ö ŸÖ Ö 
ú ß †ÓŸÖ:× 
Îú µÖ Ö 
 

47. µÖ × ¤ ü × 
ú ÃÖ ß ¯ Ö¸ü ß� Ö9 Ö 
êú  †»±ú Ö-ÃŸÖ ¸ü 
ú Öê 0.05 
ÃÖ ê 0.001 ŸÖ 
 ú  −Ö ß “Öê »Ö Ö µÖ Ö •Ö Ö ‹  ŸÖ Öê ¯ Ö Ï£Ö ´Ö ¯ Ö Ï
ú Ö ¸ü 

 ú ß ¡ Öã× ™ü Æü Öê−Ö ê 
 ú Ö %Ö ŸÖ ¸üÖ  

 (A) ²Ö œÍêü �Ö Ö … 
 (B) †¯ Ö × ¸ü¾Ö Ù ŸÖ ŸÖ ü̧ Æêü �Ö Ö … 
 (C) ‘Ö ™êü �Ö Ö … 
 (D) 
 ãú ”û −Ö Æü à 
 úÆ ü Ö •Ö Ö ÃÖ
ú ŸÖ Ö … 
 

48. ANOVA 
êú  ¯ ÖÏµÖ Ö ê�Ö ´Ö ë ‘× ²Ö ™ü ¾Ö ß −Ö ÃÖ ´Ö †Öò±ú  
ÃŒ¾Ö êµÖ ÃÖ Ô’ ŒµÖ Ö Æîü ?  

 (A) ˆ ¯ Ö Ö µÖ “Ö ü̧ «ü Ö ¸üÖ ÃÖé× •Ö ŸÖ ¯Ö ÏÃÖ ¸ü9 Ö 
 (B) ¾ µÖ Û ŒŸÖ µÖ Öë ´Ö ë †ÓŸÖ ¸ü «ü Ö ¸üÖ ÃÖé× •Ö ŸÖ ¯Ö ÏÃÖ ¸ü 9Ö 
 (C) ²Ö Ö Ê “Ö¸ü Öë «ü Ö ¸ü Ö ÃÖé× •Ö ŸÖ ¯ ÖÏÃÖ ¸ü 9 Ö 
 (D) †Ö ×Á Ö ŸÖ “Ö ¸ü 
ú Ö ¯ Öæ9 Ö Ô ¯ ÖÏÃÖ ¸ü 9 Ö 
 

49. × 
 ú ÃÖ ß ¯ ÖÏ¿ −Ö Ö ¾Ö »Ö ß 
ú ß × ¾Ö¿ ¾Ö ÃÖ −Ö ß µÖ ŸÖ Ö × −Ö¬Ö ÖÔ× ¸ü ŸÖ 

 ú ü̧ −Ö ê 
êú  × »Ö‹  × −Ö ´−Ö ´Öë ÃÖ ê 
 úÖ î−Ö ÃÖ ß ×¾Ö ×¬Ö 
ˆ ¯ Ö µÖãŒŸÖ Æîü ?  

 (A) ¯ Ö ¸ü ß� Ö9 Ö-¯ Öã−Ö ¯ Ö Ô̧ ü ß�Ö 9Ö × ¾Ö ×¬Ö 
 (B) †¬Ö Ô-× ¾Ö “”êû¤ ü −Ö × ¾Ö ×¬Ö 
 (C) ÃÖ ´Ö Ö −Ö ÖÓŸÖ ¸ü ¯ ÖÏÖ ºþ¯ Ö × ¾Ö ×¬Ö 
 (D) ŸÖ Ö Ù
 ú
 ú  ÃÖ ´Ö ºþ¯ Ö ŸÖÖ × ¾Ö ×¬Ö 
 

50. × −Ö ´−Ö ´Ö ë ÃÖ ê 
 ú Ö î−Ö ÃÖ Ö �Ö ã9 Ö Ö Ÿ´Ö
ú  ¿ Ö Öê¬Ö 
 ú Ö 
ˆ ¤ ü ÖÆ ü ¸ü9 Ö Æîü ?  

 (A) ¾Ö 9 ÖÔ−Ö Ö Ÿ´Ö 
ú  ÃÖ¾Öì� Ö 9 Ö 
 (B) ¯ ÖÏµÖ Ö ê�Ö Ö Ÿ´Ö 
 ú †¬µÖ µÖ −Ö 
 (C) 
 ú Ö µÖ Öì¢Ö ¸ü †¬µÖ µÖ −Ö 
 (D) ¾µÖ Û Â™ü-†¬µÖ µÖ −Ö 



D-0109 P.T.O.J-09-10 12

Space For Rough Work


	0810.pdf
	Commerce  (E + H) Set - II.pdf
	0910.pdf
	Education  _Set-II_ _Paper-II_ _E + H_.pdf
	1010.pdf
	J-1010 Social Work _Set-II_ _Paper-II_.pdf



